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UnixOOOOOOOOOOOOOODOODODOODOOO

000 ODo0oooOo?2W000000000000oooooooooooooooo
goooooE?2000000000OCO000DCOO0U0O0ODOOOOODbOOd

000000 OOO000D0D0O0O000DOO0OO00OO0000oOoO0Oo00oooooDooooon
O0000000000D0D0ODOD0ODO0OD0D0OD0OO0ODOO0OD0ODOOODOOOOOOO: make

0000 000000000000 00O0O000O0oDooOoo0ooOoooooooooo
O000DoDoOOo00DooOooOooooOoOoooogg: gdb

00000000 O0OO0000O0O0000o0o0oo00ooooOooooooooooon
0000000000000 0D0O0000D0OO: Electric Fence, valgrind

000000 O00D0O00000D0000D000D00O0D00O0D0OUOO0oOOOooOooOn
000000 000oo000ooDooooooooooooooon: gprof

oo gooooboobboooob oo uooobouoo
0000000000000 00DOO00bOOooDoOd: lint

go0oO0o0o0 2000000000000 00DODO0O0DDODOOOOODODOODOOD
go0o0oO0oOoOoOoOoOOOOOOOOODOOOOOODOOODOOOOOO:diff

go0o0o00O0 OOO00O0DoOoOO0OO0U00D00O0O0OOoU0DDOODOOoOUOooOoOOoUOOoO
goooO0oOoOoOoOoOoOoOOOOOOOOOOOOOOOOOOOOOOOODOO
OO000D0OCO000OO0O000O0O0D0Od: git, subversion, cvs

00000000 O0O0OO00000000D0D0D0ODD0O0O0C0C0O000O0O0O0OHTML O
0000000000000 0000000000000000O0000JavaO
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0O oo
gbobooobooobobooobbooobooooboboobboooobooooboo
double OO0 AlO0OOCO2000000000 100000000 11000000
OO0 52000000000D00000D0CO0

ﬁ’f HEHER(L1bit) 1RBER (52bit) |
63 52

O A1 IEEE754000 double DO OOODOOO

oboobobooobooboboboobooboboboboobooboboobon
oo0ooboobobooobobobobooobon

IA.8.1 goboboogad

O0O00O0D20000000000001/2(=0.50 1/8(=0.125) 000000000
goooooooool10d0O0O0O00OOOO0ODOOO0OODOOO0ODOOObOOOOOD
oooobo0obO0obooboooobobogooOo Al0o1O0 1000ODOOCOD1IOO
goooboobobooboobobooboobobooboon

oooooo Al ol1D 1I00COOOOCOODOOO

#include <stdio.h>

1

2

3 int main(void) {

4 double x = 0.1;

5 x=x+0.1; x=x+0.1; x=x+ 0.1;
6 x=x+0.1; x=x+0.1; x=x+ 0.1;
7 x=x+0.1; x=x+0.1; x=x+ 0.1;
8 printf("%.17f =(?) %.17f\n", 1.0, x);

9 return 0;

10 }

O00000 A100000GCCIntelo4 0000000
1.00000000000000000 =(?) 0.99999999999999989

gbooboboobgoobobooboobobobobooboobobooboon
gobooboobobooboobooboboobooboobobboobooboon
gbooboboobgoobooboo
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000000 A20000000D00C00D0OC00DOO0O0OOOO0O04iE (x <=Wy)O
Ooooooif (famp(x,y) <= O)UO00O0OOCOOODOOOOODOOOOO

000000 A2 DOOODOOOOODOOOODO

#include <math.h> // fabs(), fmax(Q)

1

2 #include <float.h> // DBL_EPSILON

3

4 /¥ 00000000 DOOO */

5 #define RELATIVE_ERROR (DBL_EPSILON * 8)

6

7 /* xO0y0O0O0O0Oo0oOooOODe, x>yOOO, x<ydOOOGoGQo */

g8 int fcmp(double x, double y) {

9 double diff = x - y;

10 double max = fmax(fabs(x), fabs(y)); // 0 000Q0O0o0D
11 if (fabs(diff) < max * RELATIVE_ERROR) return 0; // 0D OO DOODO
12 if (diff > 0) { return +1; } else { return -1; }

13 %}

IA.8.2 guooobod

oooOOo0bO o003 00b00b0ooboobobooobooboooobobobooooo

o000 oboobooboobooboobooboobooboobobooboon
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ogbo0 gobobooboobooboboobooon
0:1.00-0999 = 000100000100

gboooboobobooboooboboobobobobooboon

lAas83 oooooo

ggbooboogoboobuooooboo

OO (NaN,NotaNumber)0.60 / 0.0000000000COO0ODOOCOODOOOOOOO
OO000D00O0O0O00O00o0Od00printf) D0nan0 00000000 OOODOCOO
gbooboobobooboobobobobooboobobbooboobOoon

000 (@Gnfinity) 000000 DOOO0OOOCOOOOOOODOOOOOS.0 /060.000
Oinf[01-5.0 / 0.0 000 -infO000O000OOOOOODO

000000 0o0ogoggooooogl.e /7 inf0000.00001.0 / -inf OO
g-e.0000000000O0O0ODO
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0000D000C0ODOO00O00D0O0O0O000 doubled float0 00 ODOOOOO
goooboooboobobooboobobooboobooooo

200000000000 double OO OOODOODOOOOODOODOOODOOO
0000DO00C0ODO0O0O0O00OOO float00O double IO OOOODOOOOO
0000000000000 00 flecatDO0OOOCOOOdoubleDO0OODOOOO
gobogoboooboobobboobooboobooo

O000o0oO00ooOoOo0oood fleatOO00ODOOO0ODOOODOOOODOOOO
O000O0O0OOfloatd dowble OO0 OOOOOOOOOOOOODODOODOO
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IA.9 ooooooobb

gboobobooboobobooboobobobobuoobooboboobon
gbooboooboboobooboobobooboobooboboboobooboon
gbooboobobboboobgoobobboboobooobon

IA.9.1 guooooood

000000000 ooooooooboioobodblbDaexe D OO0 ooog
0000000000000 (command lineargument) 00 0000000000000
ooooooo 100,0200,...00000000000000000DOCO0OOO
minQ) 000000 voidOOOOOOOOOOOOO

int main(int argc, char *argv[]) { ... }

goboobooboobooboooon
O0000o0o0O0ob00o0oDoOon argv[J]OO
0o0oobobobog argced0oonoonO )
oboobobooobooboobon

./a.exe 123 4.56

argc = 3;
O00int0000000 <stdlib.h>0O argv[0] = "./a.exe"; // O O0ODOO
0000000 atoi Ip)ooooo  arevill = "123%; /7 W sl
atoi(argv[1]) argv([2] = "4.56"; // 0200

O O double O O atof(argv[1]) O O O
0000000000000 00000000000argce00000O0O0OOOOOO
0000000000000 000od0o0o0oo0ooDOooooooono

000000 A3 DOOOOOOoOoooDooooo

#include <stdio.h>
#include <stdlib.h>

1
2
3
4 int main(int argc, char *argv[]) {

5 if (argc '= 3) { // 000200000

6 printf("0O00: %s OO OO\n", argv[0]); // OO OO0
7 exit (EXIT_FAILURE); // O O

8 1

9 int a atoi(Cargv[1]); // 010 0O

10 double b = atof(argv[2]); // 020 0O

11 printf("a = %d, b = %f\n", a, b);

10
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A9 O000O0OO0OOO0ODOOO

Ja92 ooooo

00000000000 scanfQ OO
gbooobooboboobgoobooboo
OO00O0DoOoOOoOoOogabbOOoOooO
gboooboobobooboonbg

printf("O0000O0O0OOOOO> ");
int a;
scanf ("%d", &a);

printf("OO0C00COCOOCOO> ");

double b;

scanf) DO printf) OO OODOODOOO scanf("%1f", &b);

gboooboobobooboobooboo
gbooboobobooboobooboo
googoog

printf("a=%d, b=%f\n", a, b);

e 00 ¥WDOODOIUDDODOODMOOOODODOOOOODOOOODOD 2?20

e %0 00D0O0DO0ODOUODOODLOODLOODbDOODOODDUODDbDOODO
ooomobobooobooobooboboooboon

QDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

printf) D000 DO0OO0000O000000&ODDOOO0000O00 double DO OO0
%DDDDD%HDDmmmmmmmmmmmmmmmmmmmmm

O000000 D0000000000Oscanf) 000000000000 0000OO
000000000000000000000000000000000000000
0oooDooo0o0o*o

0000 printf) 0 scanf() O fO formatted 0 00 0000000000000 O0O0O00OO
printf) 0000000000000 00000O0Oscanf) 000000000000
000000000000000000000000000000000000000
000000000000000000000000000000000000000
0000000000000 00000000OOmoon??2000000000
00000000000000000

000000000000 feetsO)OOOODOOOO DDDDDDDDDDDD
OO00000000 atoi) 0O sscanf) 000000000000 OOOOOOOOOOO
o0ob0obO0ob0ob0obOobO0bO0ObD A4dD00D0DO0ODOODODODODODODO
ooooboboooboobooo

#S 0000000000000 000000000000000000000000000000000
goobooooboooooooooooOooOooO0oOoDOoOooooOoooOoboO0OoOOoOoOoDOOoOoOooboOooo
gobooooOoooooooooooooooooooooooooooooooboooon
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printf("O00000O0DO0OOOO> ");
int a;

scanf("%d", &a); // "123" 123 &l 5 \Q <D C/

printf("O0000O0OOOOCOO> ");
char c;
scanf("%c", &c); // [Enter] - ’'\n’

]
e

000000000 200 scanf) 0% 000000% 0000000000000

000000000000123(Enter)]0000000000

e U000 % 00000000123000000000(Enter)(="\n")000000
000 scanfQ) DO ODOODO

e 00 % 0000000000000 00000000000000 \n' 000
0000D00000000000000000000000000000000
000000000000000000000000000000000

0000000000 (Enter]00000000 feets) DOOO0O0ODO

000000 A4 DOOOOOOOODOOOO

1 #include <stdio.h>

2 #include <stdlib.h> // atoi(), atof(), BUFSIZ

3

4 int input_int(void) {

5 char buff[BUFSIZ];

6 if (fgets(buff, BUFSIZ, stdin) == NULL) exit(EXIT_FAILURE);
7 return atoi(buff); // 000 - int0O0O

8 }

9

10 double input_double(void) {

11 char buff[BUFSIZ];

12 if (fgets(buff, BUFSIZ, stdin) == NULL) exit(EXIT_FAILURE);
13 return atof(buff); // 0O 0 O - doubleld O

14 3}

16 int main(void) {

17 printf("O000O0OOCOOOO> ");
18 int a = input_int(Q);

19

20 printf("O0000000O00O0O00OO> ");
21 double b = input_double();

22

23 printf("a=%d, b=%f\n", a, b);
24}

12
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IA.9.3 gobobobobboougoooobon

UNIXOOODODOOuwi-OOOODOOOODOOOOODOOOOOODOOODOODOOO
gboobooboboobooboobobooboobooboboboobooboon
gboobooboboobooboboobooboobboobooboooboboo

0o0doddoooOoU0OopooOooOoOoo0Uobooo0oUobOoOo Alo3g0oooogao
gobooboobobooboobooboboobooboobobooboobOoon
OO0000CO0000O0O000DO0OU0O0DoOOoOOn (redirect)y0O0DOOOO

0000 (standardinput) O OO OOO0OO00OO0O stdinO00O00O0O0QO scanf("...")
O fscanf(stdin, "...") 0000000OOCDOOOCOOOOODOOOCOOOOOOO
0000000 DOO0D0OO0D"input.txt"OOODOODOODODODODODODODO
goobobooobooboboboboooboobooboboooboooboon

$§ ./a.exe < input.txt // input.txt0 000000 O0OO0OOODOOOOADO

0000 (standardoutput) OO O OO0O0OCOO0O0O stdout 0000 O0OOOOOOOO
gbooooobobgooooboboboooooobobobooobooboboobo

$§ ./a.exe > output.txt // OO OO0 output.txt OO O O0ODO

ggboobooooboooobobooobboooboboobbooobobooobbooon
gooobooobobbooboobg>»>boooboobooboob
gooobooobobboboobooboboooboobo

$ ./a.exe < input.txt > output.txt // DO O O0OO0OO0O0OO0OOO

0000000 (standarderroroutput) 00 0000000000000 0OOOOOO0O
gooboooodoooboooobooboooooooboooooa

20000000000000000DO0DODODODDOO0000O0O0O0OODODODOOO0
(pipeline) 00 0O OO0OO0DOOO0ODOOOOODOODOOODOOOOODOODOOO

# 000O0OOOOOO # 00000 O0OOOOOOaO
$ ./a.exe > tmpfile.txt § ./a.exe | ./b.exe
$ ./b.exe < tmpfile.txt

goboboobobobooooooooooboobbbooooobobbbboooooooon
OO0O0opooooo iten0D0O00D0OCO0ODOOOODOOOODOOODOOOODOOOO
oboboooo0ooo0oooooobo0obOobOOobOOo0OOobOOOOobO0Ob0O0ObO0Ob0OUuUNIX
DDDDDDDDDD’TODO:IDD 1goooooon
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0A1 ODOOOOOOO

oo gooood FILE* oooooood
ooon ooooo stdin command < file
command > filed O OODO
command >> fileO O OO
0000000 0O0O0D0OO0o0D0d  stderr command 2> filedOO

gogo OOoOoOoboOgO  stdout

— 0000 000000 EOF

oooobooboooooboobobO kokhH)UDbO0ODOObOOODbOODbDOobOb
goboobooobo0oboobobooboooobon

Cygwin 0 Unix 000 O(Ctrl+(D)0 000000000 (Enter]0000000
000000000

Windows 100000000000 (Ctrl#{Z)000|TODO: Unix 0 00 00

IA.IO Jodougoogo

printf) O scanf) 000D 000000 DO0O0O0OD0OOOOOOOOOOOOOODOO
00000000 (variable length arguments) 0 00 0000000000000 OO0OO
TODO: 00000000000 00000000 <stdarg.h>0 va.arg) 0000
ggooboobooooon

ggbobboooobbooooouobboooobboooobbboooobobn
000000000 O00O00D0CO0O0UOoOOoUoLobOOooUoDgnO printf) O
scanf) 00 000000000000 O0ODOO0OO0OO00OOOOO0OOOOODOOOOO0
00000000000000000*0

O0MO0000D000000000000 fleat double DO O OOOOODODO
OO0O0O00O00OOprintf) 00 floatd double OO0 OO0 OOOOODOGG2?20MOOO0O
scanf) 000000000 O0OOfloat*d double* 000 OO0 OOOOOOOO

“ 0000000000000 0000000000000000000000000000000
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IA.ll oooooo

gboobobooboobobooboobobobobuoobooboboobon
gbooboooboboobooboobobooboobooboboboobooboon
gbooboobobooboobooboboobooboobobooboobon
googo

gboobobooboobobooboobobbooboobooboboobOoon
goboobooboboobooboobobooboobobobobboobOoobOoo
goboobooboboobooboobobooboobobooboobOon

O000000oOoOdOooooooOooooOoooooSOoooooooooooooo
OO000D0OO0O0O0CcOOoO0dd malloc)O free D000 O0O0ODOOOOODOOOODO
oooobogon
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